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2 (700 AHHIE) AtHIZ 3 0 (710 PUHIE) FAHIE
MB : (751 grpreldl) erzelt] S (202 04H1) ol el FME)
Pﬂ; @j 0‘““3&32%3
700 ALHIE 15,264,514 | 15,247,718 16,796
710 Z IS 14,544,514 14,527,718 16,796
751 Lekatefd] 1,497,179 1,497,791 ANB12
200 2dZ 4l 118,310 121,748 A3,438
202 Oidl 10,460 11,840 A 1,380
06 d=zuw=sII20Hl 20 1,400 21,380
O 228 =D ol
(20,0008 x 1%)-(200,0008 x 7)) = A 1,380
212 =c|= M| 3,822 5,880 N2,058
09 DJlIEt=el& | 3,822 5,880 A2,058
O 022X 3|
(7,000% x 52 x 8L x 128 )-(7,0002 x 6% x 82 x 128) = ABT2
O +S#HID AU 22
(7,000% x 335 x 22 )-(7,000% x 332 x8Y) = A 1,386
300 ZaolH 1,017,962 1,015,136 2,826
304 HESRE= S 1,014,167 1,011,341 2,826
02 =ALALSERE= 180, 160 177,334 2,826
O AR 2g2
(5,651,325,000& x 2.995%)-(5,651,325,000& x 2.945%) = 2,826
752 A4 ¥ +3I1220H| 2,418,530 | 2,401,122 17,408
100 elsE23H| 2,084,853 2,039,790 45,063
101 124t 1,989,393 | 1,944,330 45,063
03 BRIHAIZZXNE=S 479,414 434,351 45,063
O Jl=3
(2,387,980 x 122 x 128)-(2,130, 0002 x 129 x 128) = 37,150
O ZR224+Y
(16,5402 x 15A1 2t x 129 x 128)-(14,3108 x 15412t x 122 x
128) = 4,817
O ZEEIH
(343,869, 120& x 1/12x 50% x 28] )-(306,720,000& x 1/12 x
50% x 23] ) = 3,096
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(700 NRHIZ) AgHIE B (710 2PHIE) FHIE
(752 Sotaell) 3% % #8HAA o . 501 aveas) gvesl Csl . HR)
=2 ~ =
Pﬂ;@ nE = 01'&‘)"3&;%@5'
200 33, 177|  %0.832| 27,65
201 142,491 172,491|  ~30,000
o1 115,020 145,220] 30,000
0 UH 242
(2,500,0002 x 128)-(5,000, 0002 x 128) = 30,000
212 =eIz=uy 77,088 74,69 2,345
o1 o) 46,04 43,680 2,345
0 a=x zEs 2,345
(454,062,000 x 1%)-(430,927 0002 x 1%) = 231
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dawaa
(454,062, 000! x 2. 945%) (430,927 , 000! x 2. 945%) = 662
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(454,062, 000! x 4.5%)- (430,927 000! x 4.5%) = 1,041
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ZE (120,000 x 169 x 12& )-J|1 & (120,000& x 17 x 12€)
= A1,440
05 2RI Z0YI 1,000 2,000 21,000
O &2=E WsEAS ol
Z & (200,000& x5 )-I1& (200,000 x 10¥) = A 1,000
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(700 AIRIHIB) AIRIHIS & (710 YYUHIB) PUHIS
HE (712 Fal) b S (101 @I2HHl) 912 cr9l ;&)
==} x~ =
PE;%O* WE = ml&ﬁa/\j;%%ﬂ
700 AtgEHIZ 22,115,671 21,473,813 641,858
710 s 22,115,671| 21.473.813| 641,858
712 E =4l 6,569,226 5,927,368 641,858
100 olzi@ oy 2,461,806 2,487,632|  ~25.806
101 Ql2d]| 2,373,446 2,399,252 N25,806
04 JIZtH 2= NSE=+ 55,310 81,116 N25,806
O AZE2A L HBH oYY, =X B2 725,806
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(57,8502 x 3% x 25021 )-(57,850% x 42 x 28020) = 21,408
S
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e
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01 AP 22| d] 202,990 195,450 7,540
O 4+%SHEY 428 7]
(17021 x 40,0007 )~( 1702l x 300,000 ) = 17,000
O +AVESFI BSAA 242
(542,000 x 105 )-(480,000% x315) = 9,460
02 Zzeg| 772,760 21,760 751,000
O NISHAT D242 SNDA OIS
751,000,000& x 14 = 751,000
206 M=l 786,527 776,527 10,000
01 LUt = I 68,000 58,000 10,000
O £TAANE A U ADE T
(6,500,000 x43])-(4,000,000& x43|) = 10,000
214 =& XWX dl 1,083,645 1,184,521 100,876
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A =20 & 53 & 2
%ﬂ%%iégéﬂ (et @ A
> 4 9o B Sl .
;| ES o = =) ol A S ot = = o

A 480,000 H 9,479,315

Hedoase CEEERST SEAFS ==
480,000 8,899,570
I 2HIE 570,745
A 39,482,437

HIH
A oielsl 39,482,437
= A (A) 480,000 = A (B) 48,961,752
gol=0lYd (Hz2gd)(A - B) A48,481,752
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2 (200 XERKE) MRS b1 (800 ofibldl) ofibldl

Jo o

Bt s (801 OIHIHI) oilbIHl : (801 OIIBIBI) CilHIGI (crel @ HE)
=2 pS| =
Pﬂ; 3 - M B ; oS ?)J| At j Zaa
200 NM=2HIXE 39,487,287 39,863, 344 A376,057
800 OlIHIH 30,482,437 | 39,858,494 |  ~376,057
801 oilblbl 39,482,437 39,858,494 A376,057
801 OfitlHl 30,482,437 | 39,858,494 |  ~376,057
O ol (39,482,437 0009 )-(39,858,494,0009) =  A376,057 | 39,482,437| 39,858,494|  A376,057
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2200 HEEXE) HEHAS 3 0 (230 REXAHS) SEXLFHS
Mg : (234 7=2) P22 S (401 AEHILSOH) ALY L2 el FMEl)
=2 ~ =
PE;%O*-MQ; ”'ﬁﬁ;ﬂﬁiiﬁ'
200 NM=2HIXE 999, 895 ,254,700 A 254,805
230 SEXAFS 999, 895 ,254,700|  ~254,805
234 F=EES 425,000 390,000 35,000
401 A&HI L= 425,000 390, 000 35,000
01 Al&H] 425,000 390, 000 35,000
O NXSTF+T ZST LHOIE2 T4 A
35,000,000% x 14 = 35,000
237 3J1FHIE 574,895 864,700 A 289,805
405 IHaHFESHIS 574,895 864,700 A289,805
01 TH&HHSHI 574,895 864,700 A 289,805
O ge2+x 22 (2,216,500& x 104)-(3,000,000& x 1CH) =
AT83
O SHESAA Y| P
(2,733,780 x 104)~(3,500, 0002 x 1CH) = AT66
O WM 2
(1,485,0002 x 1CH)~(2,000, 0002 x 1CH) = A515
O &+ +2 WS 2 &X
(0&)-(270,000,000& x 141) = A270,000
O g4 I3l 2
(61,129,380& x 241)-(70,000,000& x 24!) = A7, 741
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AHEE 2014 B
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HEE 2014 B
a2 @ 33X (Ste @ A)
= = o & oA J1 & 0fl &t o4 28 =3
= (A) (B) (A - B)
N = ¥ 3B) 93,672,944 93,672,944 0
YL E Al 43,991,192 43,360,330 630,862
=L F 26,175,250 26,175,250 0
& =t 6,569,226 5,927,368 641,858
B - 2 =8l 5,981,007 6,008,799 N27,792
= - B =3 At 1,350,000 1,350,000 0
2 Bkt el 1,497,179 1,497,791 AB12
d= 2 +=Sot2elbl 2,418,530 2,401,122 17,408
sg&d Al 20,000 20,000 0
=824 20,000 20,000 0
ol gl Bl Al 700,000 700,000 0
0il 1 8 700,000 700,000 0
SENAMHS Al 9,479,315 9,734,120 A 254,805
_E== 8,899,570 8,864,570 35,000
S8l 3 579,745 869,550 A 289,805
Oil Bl b H 39,482,437 39,858,494 A376,057
0l 5l 8 39,482,437 39,858,494 N 376,057
Xt H(A-8B) 0 0 0
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